	Tile Riddle A

· There are 7 tiles.

· There are no green tiles.

· Red and blue are equal.

· There are 3 yellow.


	Tile Riddle B

· There are 10 tiles.

· There are twice as many blue as red tiles.

· There is the same number of green tiles as red tiles.

· The green and yellow tiles together are the same number as the blue.

	Tile Riddle C

· There are less than 15 tiles.

· ¼ of the tiles are red.

· There are two blue tiles.

· 1/3 of the tiles are yellow.

· There is one less green than yellow.


	Tile Riddle D

· There are 10 tiles.

· There are 4 colors.

· Three of the colors have the same number of tiles.

· Green has a different number of tiles.

· Yellow has more tiles than green.
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